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1 mRE (FRi24%11A5A8%E)
HE = Hfg:F
(A) (B) (C) (D)=(B)x(C)| (D). (A
R A REHH | BREERDP | RERXT |[BRER-ET| EBF
ETI1R 418 0 418 418 100.0%
X K
F2Rx 52 0 52 52 100.0%
ETI1R 717 0 717 717 100.0%
iE 7 FE2R 2,831 521 971 1,492 52.7%
FE3RXR 2,471 36 2 38 1.5%
R & FE1R(LA) 1,027 82 117 199 19.4%
B 215 2,430 0 0 0 0.0%
ILFI 21 557 0 0 0 0.0%
7o EIR 900 0 0 0 0.0%
R IR 5,349 0 0 0 0.0%
b 3 IR 2,161 0 0 0 0.0%
B K 81 (#1L) 1,893 128 LAICAH-BHIFE 0.0%
& & 20,806 639 2,277 2,916 14.0%
mE % Bi {37 : Km
" (A) (B) (C) (D)=(Bx()| (D). (A
ok RIER | BREERD | RERXT |[REDR-XT| EBX
X R 40 8 32 40 100.0%
HFE M (EFEE) Bfrm
(A) (B) (B)./ (A)
X & .
RImMH 5c T EH pi: 3
X iR 424,970 470 0%
iE T 71,353 0 0%
mE i BfI:ha
(A) (B) (B).” (A)
X & .
RImE 5c T EiE pi: 3
15f B #th 2,106 2,106 100.0%
BE M 65 0 0.0%
X H 2,390 2,308 96.6%
1 ih 1,184 233 19.7%




2 NS (ER244E10A31HRE)

Hfr: 4

B 4 _ ® F _ T \
iiE EARG# i EAG#
IR B (R ET) 99 237 99 233
REM (FIL-RBANEED) 15 16 15 16
R E B EER 32 34 32 34
AE-REEVIS 259 259 118 118
TEEENYRER 13 14 2 3
FERE. EBE 7 8 S 6
T D 2> HHEER 28 30 11 11
a8 Bt 513 658 342 481
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3 MRXAVrRRYMRE (FERE244F11ASHRE)

BG4
(A) (B) (C) (D)= (B)+(C)

Hh X £ X X i
REFE | BREERS | BREXT |BREH-ET
¥ E 11 1 6 7
% % 5 1 0 1
& K 10 1 0 1
BB 7 1 6 7
it {8 16 12 0 12
5 B 4 0 1 1
B IR 7 2 5 7
o 12 8 3 11
&g % 9 2 7 9
T ¥ 4 3 1 4
5 8 2 6 8
& % 93 33 35 68




